

Promedia Shelving

<u>CASE FEATURES:</u> *1/2" vertical shelf adjustment - with no tools *3 Case heights - 60", 81" & 90" *One Case width - 35" *2 Case depths - 5.5" & 7"

*Powder coat finish - Durability with no off gassing *Leveling guides standard *Optional locking doors for security & protection *Optional Stabilizing feet - increases effective footprint *Ships "Set-ip" ready to use & easy to relocate









Standard Sholvos

SHELF FEATURES:

*3 Styles to choose from - standard, recessed & flat *Built in tracks - accommodate accessories & beam strength *Built in "finger room" - allows more shelves per case *Adjustable backstop - position media to the front of the shelf *Optional Media Racks - Snap on shelf for discrete slot filing NOTF

NOTE - Proper anchoring is required to prevent tipping, case will not freestand without stabilizing feet, additional anchoring still may be required

Which shelf should you use?

1)Standard Shelf - can be used for any media. It is the best choice for media that is taller than it is deep 2)Recessed Shelf - designed primarily for data media applications where a front label area is required on shelf best for media that is square or shorter then it is deep

3)Flat Shelf - is a BUDGET version of the recessed shelf. It has no tracks and will not accommodate a backstop Flat shelf is only available in a 5-1/2" size and does not work for all media. Suitable for 3480,DLT,LTO and CD's

Which shelf accessories should you use?

1)Slide-N-Lock Bookend - an inexpensive & effective way to keep your media from falling over - held in place with spring pressure

2)Adjustable Backstop - keep your media lined up neat and tidy but you can also adjust the depth of the shefl when your media size changes

3)DSMR Media Racks - provides a quick and easy way to provide individual slots for your media and can be switched if your media changed. Available for most popular data media

5.5" Audio Video Shelving - Standard Shelves

4mm w/ Backstop		Capacity	Standard Shelves							
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight		Price
SX60-5.5-13B	60" x 5.5" Shelving	14	56	784	60	37-3/4	5-3/4	131	\$	765.00
SX81-5.5-19B	81" x 5.5" Shelving	19	56	1,064	81	37-3/4	5-3/4	162	\$	955.00
SX90-5.5-21B	90" x 5.5" Shelving	21	56	1,176	90	37-3/4	5-3/4	179	\$	1,029.00

8mm/audio casse	ttes w/ Backstop	Capacity							
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight	Price
SX60-5.5-11B	60" x 5.5" Shelving	11	42	462	60	37-3/4	5-3/4	124	\$ 705.00
SX81-5.5-15B	81" x 5.5" Shelving	15	42	630	81	37-3/4	5-3/4	148	\$ 835.00
SX90-5.5-17B	90" x 5.5" Shelving	17	42	714	90	37-3/4	5-3/4	165	\$ 909.00

Small Beta w/ Backstop

Official Deta W/ Dat	(Stop		Capacity			otanuaru				
Model	Description	Shelves	Per Shelf	Per Unit	<u>Height</u>	Width	Depth	Weight	Pric	ce
SX60-5.5-7B	60" x 5.5" Shelving	7	28	196	60	37-3/4	5-3/4	110	\$5	585.00
SX81-5.5-10B	81" x 5.5" Shelving	10	28	280	81	37-3/4	5-3/4	120	\$6	685.00
SX90-5.5-11B	90" x 5.5" Shelving	11	28	308	90	37-3/4	5-3/4	130	\$ 7	729.00

Canacity

VHS Sleeve w/ Backstop Capacity				Standard Shelves						
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight		Price
SX60-5.5-6B	60" x 5.5" Shelving	6	32	192	60	37-3/4	5-3/4	105	\$	554.00
SX81-5.5-9B	81" x 5.5" Shelving	9	32	288	81	37-3/4	5-3/4	115	\$	654.00
SX90-5.5-10B	90" x 5.5" Shelving	10	32	320	90	37-3/4	5-3/4	125	\$	699.00

www.southwestsolutions.com

Toll Free 1-800-803-1083

VHS Case w/ Bac	kstop	Capacity							
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight	Price
SX60-5.5-6B	60" x 5.5" Shelving	6	29	174	60	37-3/4	5-3/4	105	\$ 554.00
SX81-5.5-8B	81" x 5.5" Shelving	8	29	232	81	37-3/4	5-3/4	115	\$ 625.00
SX90-5.5-9B	90" x 5.5" Shelving	9	29	261	90	37-3/4	5-3/4	125	\$ 669.00

Options

Model	Description		Height	Width	Depth	Weight	Price
S-5.5	Shelf only - no backstops		5/8	35-3/8	5	3.5	\$ 25.00
S-5.5-B	Shelf only - with backstops		5/8	35-3/8	5	4.5	\$ 33.00
ABS-35	Adjustable backstop		1	35	1	1	\$ 7.25
BE-SL	Slide-N-Lock bookend		3-3/4	1/8	3-1/2	1	\$ 7.25
S-B	Stabilizing Feet (2 ea)		3/8	5	13-1/2	10	\$ 68.00
SHK	Staging Hardware Kit		-	-	-	5	\$ 36.00
*Stabilizing Feet a	re needed unless you are bolting to the	wall					

*Additional anchoring is recommended and may be required by local codes

Preconfigured 5.5" CD Shelving

CD/DVD Jewelcas	CD/DVD Jewelcase - No Backstop		Capacity						
Model	Description	Shelves	Per Shelf	Per Unit	<u>Height</u>	Width	Depth	Weight	Price
SX60-5.5R-10	*60" Shelving for CD-Recessed	10	86	860	60	37-3/4	5-3/4	120	\$ 625.00
SX81-5.5R-13	*81" Shelving for CD-Recessed	13	86	1,118	81	37-3/4	5-3/4	130	\$ 709.00
SX90-5.5R-15	*90" Shelving for CD-Recessed	15	86	1,290	90	37-3/4	5-3/4	145	\$ 779.00
S5-5R	Shelf only (Recessed)-no backstops	-	-	86	1/2	35-3/8	4-1/4	3.5	\$ 25.00
BE-SL	Slide-N-Lock bookend	-	-	-	3-3/4	1/8	3-1/2	1	\$ 7.25

*CD on Recessed Shelf - overhangs front edge of case by about 1/8" but no backstops required. This configuration compatible with slidetrac but not locking doors. Use 7" case with doors

CD/DVD Jewelcase - CD Budget Option

CD/DVD Jewel	case - CD Budget Option		Capacity			Flat Shel	ves		
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight	Price
SX60-5.5F-10	**60" Shelving for CD-Flat	10	86	860	60	37-3/4	5-3/4	120	\$ 569.00
SX81-5.5F-13	**81" Shelving for CD-Flat	13	86	1,118	81	37-3/4	5-3/4	130	\$ 635.00
SX90-5.5F-15	**90" Shelving for CD-Flat	15	86	1,290	90	37-3/4	5-3/4	140	\$ 689.00
S5.5F	Shelf only (Flat)	-	-	86	1/2	35-1/2	3-5/8	3	\$ 22.00
BE-SL-USD	Slide-N-Lock bookend/Upside Down	-	-	-	3-3/4	1/8	3-1/2	1	\$ 7.25
V4X4	4" x 4" bookend	-	-	-	3-3/4	3-3/4	-	1	\$ 7.25
S-B	Stabilizing Feet (2 ea)				3/8	5	13-1/2	10	\$ 68.00
SHK	Staging Hardware Kit				-	-	-	5	\$ 36.00

Stabilizing Feet are needed unless you are bolting to the wall

Additional anchoring is recommended and may be required by local codes

**CD on Flat Shelf overhands front edge of case by about 1/8"

Flat Shelf configurations require an extra shelf to hold wire bookend (#BE-SL-USD) on top tow (not included). Or use V4X4 Bookend without extra shelf

This configuration compatible with slidetrac but not locking doors. Use 7" case with doors

7" Audio Video Shelving - Standard Shelves

CD/DVD Jewelcase w/ Backstop

CD/DVD Jeweld	ase w/ Backstop		Capacity						
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight	Price
SX60-7-10B	60" x 7" Shelving	10	86	860	60	37-3/4	7-1/4	140	\$ 739.00
SX81-7-13B	81" x 7" Shelving	13	86	1,118	81	37-3/4	7-1/4	150	\$ 846.00
SX90-7-15B	90" x 7" Shelving	15	86	1,290	90	37-3/4	7-1/4	165	\$ 929.00
Noto - finger spaci	ng is "tight" with this soloction but maximi	zos canacity	as an altorn	ativo consid	or the 5.5	vorsion and	4		

Note - finger spacing is "tight" with this selection but maximizes capacity, as an alternative consider the 5.5 version and the configurations below

CD/DVD Jewelca	se w/ Backstop		Capacity		Standard Shelves					
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight		Price
SX60-7-9B	60" x 7" Shelving	9	86	774	60	37-3/4	7-1/4	140	\$	705.00
SX81-7-12B	81" x 7" Shelving	12	86	1,032	81	37-3/4	7-1/4	150	\$	815.00
SX90-7-14B	90" x 7" Shelving	14	86	1,204	90	37-3/4	7-1/4	165	\$	895.00
		•	-	-					,	

With Extra "Finger Room"

CD/DVD Jewelcas	e w/ Backstop	Capacity							
Model	Description	Shelves	Per Shelf	Per Unit	<u>Height</u>	Width	Depth	Weight	Price
SX60-7R-10B	60" x 7" Shelving	10	86	860	60	37-3/4	7-1/4	140	\$ 739.00
SX81-7R-13B	81" x 7" Shelving	13	86	1,118	81	37-3/4	7-1/4	150	\$ 849.00
SX90-7R-15B	90" x 7" Shelving	15	86	1,290	90	37-3/4	7-1/4	165	\$ 929.00

CD/DVD Jewelcas	se w/ Backstops & Rack	Capacity							
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight	Price
SX60-7R-10B-65	60" x 7" Shelving	10	65	650	60	37-3/4	7-1/4	140	\$ 855.00
SX81-7R-13B-65	81" x 7" Shelving	13	65	845	81	37-3/4	7-1/4	150	\$ 998.00
SX90-7R-15B-65	90" x 7" Shelving	15	65	975	90	37-3/4	7-1/4	165	\$ 1,099.00

DVD Album w/ I	Backstop	Capacity							
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight	Price
SX60-7-6B	60" x 7" Shelving	6	56	336	60	37-3/4	7-1/4	104	\$ 605.00
SX81-7-9B	81" x 7" Shelving	9	56	504	81	37-3/4	7-1/4	115	\$ 715.00
SX90-7-10B	90" x 7" Shelving	10	56	560	90	37-3/4	7-1/4	120	\$ 762.00

Large Beta No B	Capacity Standard Shelves								
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight	Price
SX60-7-4	60" x 7" Shelving	4	28	112	60	37-3/4	7-1/4	95	\$ 519.00
SX81-7-6	81" x 7" Shelving	6	28	168	81	37-3/4	7-1/4	103	\$ 585.00
SX90-7-7	90" x 7" Shelving	7	28	196	90	37-3/4	7-1/4	110	\$ 629.00

3/4" Umatic No Backstop			Capacity	Standard Shelves						
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight		Price
SX60-7-5	60" x 7" Shelving	5	23	115	60	37-3/4	7-1/4	100	\$	546.00
SX81-7-7	81" x 7" Shelving	7	23	161	81	37-3/4	7-1/4	105	\$	615.00
SX90-7-7	90" x 7" Shelving	7	23	161	90	37-3/4	7-1/4	115	\$	629.00

Large D2 No Backstop

Large D2 No Back	Capacity Standard Shelves									
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight		Price
SX60-7-4	60" x 7" Shelving	4	22	88	60	37-3/4	7-1/4	100	\$	519.00
SX81-7-6	81" x 7" Shelving	6	22	132	81	37-3/4	7-1/4	105	\$	585.00
SX90-7-7	90" x 7" Shelving	7	22	154	90	37-3/4	7-1/4	115	\$	629.00

Options

Model	Description		Height	Width	Depth	Weight	Price
S-7	Shelf only - no backstops		5/8	35-3/8	6-1/2	4	\$ 29.00
S-7-B	Shelf only - with backstops		5/8	35-3/8	6-1/2	5	\$ 33.00
ABS-35	Adjustable backstop		1	35	1	1	\$ 7.25
BE-SL	Slide-N-Lock bookend		3-3/4	1/8	3-1/2	1	\$ 7.25
S-B	Stabilizing Feet (2 ea)		3/8	5	13-1/2	10	\$ 68.00
SHK	Staging Hardware Kit		-	-	-	5	\$ 36.00

*Stabilizing Feet are needed unless you are bolting to the wall

*Additional anchoring is recommended and may be required by local codes

5.5" Data Media Shelving - Recessed Shelves

4mm w/ 47 Slot W	/ire Rack & Backstop		Capacity			 			
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight	Price
SX60-5.5R-13B-47	60" For 4mm w/ Wire racks	13	47	611	60	37-3/4	5-3/4	150	\$ 919.00
SX81-5.5R-19B-47	81" For 4mm w/ Wire racks	19	47	893	81	37-3/4	5-3/4	175	\$ 1,179.00
SX90-5.5R-21B-47	90" For 4mm w/ Wire racks	21	47	987	90	37-3/4	5-3/4	200	\$ 1,279.00
S-5.5R-B-47	Shelf as above with rack		47		2	35-1/2	4-1/4	5	\$ 39.00

Magstar w/ 47 Slo	ot Wire Rack No Backstop		Capacity Recessed Shelves							
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight		Price
SX60-5.5R-14-47	60" For Magstar w/ Wire racks	14	47	658	60	37-3/4	5-3/4	125	\$	855.00
SX81-5.5R-19-47	81" For Magstar w/ Wire racks	19	47	893	81	37-3/4	5-3/4	190	\$	1,085.00
SX90-5.5R-21-47	90" For Magstar w/ Wire racks	21	47	987	90	37-3/4	5-3/4	210	\$	1,175.00
S-5.5R-47	Shelf as above with rack		47		2	35-1/2	4-1/4	5	\$	36.00

8mm w/ 36 Slot W	ire Rack & Backstop		Recessed Shelves							
Model	Description	Shelves	Per Shelf	Per Unit	<u>Height</u>	Width	Depth	Weight		Price
SX60-5.5R-11B-36	60" For 8mm w/ Wire racks	11	36	396	60	37-3/4	5-3/4	140	\$	835.00
SX81-5.5R-15B-36	81" For 8mm w/ Wire racks	15	36	540	81	37-3/4	5-3/4	155	\$	1,009.00
SX90-5.5R-17B-36	90" For 8mm w/ Wire racks	17	36	612	90	37-3/4	5-3/4	180	\$	1,109.00
S-5.5R-B-36	Shelf as above with rack		36		2	35-1/2	4-1/4	5	\$	39.00

3480,3490,3590 (& DLT	no box) w/ 31 Slot Wire Rack/No BS	Capacity Recessed Shelves								
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight		Price
SX60-5.5R-11-31	60" For 3480 w/ Wire racks	11	31	341	60	37-3/4	5-3/4	140	\$	779.00
SX81-5.5R-15-31	81" For 3480 w/ Wire racks	15	31	465	81	37-3/4	5-3/4	155	\$	939.00
SX90-5.5R-17-31	90" For 3480 w/ Wire racks	17	31	527	90	37-3/4	5-3/4	180	\$	1,029.00
S-5.5R-31	Shelf as above with rack		31		2	35-1/2	4-1/4	5	\$	36.00

DLT w/ 25 Slot Wi	re Rack & No Backstop		Capacity						
Model	Description	Shelves	Per Shelf	Per Unit	<u>Height</u>	Width	Depth	Weight	Price
SX60-5.5R-11-25	60" For DLT w/ Wire racks	11	25	275	60	37-3/4	5-3/4	140	\$ 779.00
SX81-5.5R-15-25	81" For DLT w/ Wire racks	15	25	375	81	37-3/4	5-3/4	155	\$ 939.00
SX90-5.5R-17-25	90" For DLT w/ Wire racks	17	25	425	90	37-3/4	5-3/4	180	\$ 1,025.00
S-5.5R-25	Shelf as above with rack		25		2	35-1/2	4-1/4	5	\$ 36.00

LTO w/ 29 Slot W	ire Rack & No Backstop		Capacity						
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight	Price
SX60-5.5R-10-29	60" For LTO w/ Wire racks	10	29	290	60	37-3/4	5-3/4	135	\$ 742.00
SX81-5.5R-14-29	81" For LTO w/ Wire racks	14	29	406	81	37-3/4	5-3/4	150	\$ 899.00
SX90-5.5R-15-29	90" For LTO w/ Wire racks	15	29	435	90	37-3/4	5-3/4	175	\$ 955.00
S-5.5R-29	Shelf as above with rack		29		2	35-1/2	4-1/4	5	\$ 36.00

CD w/ 65 Slot Wir	e Rack & No Backstop	Capacity Recessed Shelves							
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight	Price
SX60-5.5R-10-65	60" For CD w/ Wire racks	10	65	650	60	37-3/4	5-3/4	120	\$ 744.00
SX81-5.5R-13-65	81" For CD w/ Wire racks	13	65	845	81	37-3/4	5-3/4	130	\$ 865.00
SX90-5.5R-15-65	90" For CD w/ Wire racks	15	65	975	90	37-3/4	5-3/4	145	\$ 955.00
S-5.5R-65	Shelf as above with rack		65		2	35-3/8	4-1/4	5	\$ 36.00
*CD on Desseed Ch	olf averbance front odes of ease by about	4 4 /0 !! but m	a haakatana	no musino d					

*CD on Recessed Shelf - overhangs front edge of case by about 1/8" but no backstops required. This configuration compatible with slidetrac but not locking doors. Use 7" case with doors

ine congarator co	inpassio mai onaoa ao satisot iooning ao	 					
S-B	Stabilizing Feet (2 ea)		3/8	5	13-1/2	10	\$ 68.00
SHK	Staging Hardware Kit		-	-	-	5	\$ 36.00

*Stabilizing Feet are needed unless you are bolting to the wall

*Additional anchoring is recommended and may be required by local codes

5.5" Data Media Shelving - Flat Shelves

*When using the Flat Shelf one extra shelf is required to hold top wire rack. Flat shelves are not appropriate for all media types

*Please contact Data-Link if you would like a quote for flat shelves with bookends instead of wire racks.

3480,3490,3590 (& DLT No Box) w/ 31 slot wire rack		Capacity			Flat Shelves					
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight		Price
SX60-5.5F-12-31	60" For 3480 w/ Wire racks	*12	31	341	60	37-3/4	5-3/4	140	\$	746.00
SX81-5.5F-16-31	81" For 3480 w/ Wire racks	*16	31	465	81	37-3/4	5-3/4	155	\$	879.00
SX90-5.5F-18-31	90" For 3480 w/ Wire racks	*18	31	527	90	37-3/4	5-3/4	180	\$	959.00
S-5.5F-31	Shelf as above with rack		31		2	35-3/8	3-5/8	5	\$	33.00

*USABLE SHELVES - ONE LESS than shown - one extra flat shelf included in top opening to hold the wire rack

www.southwestsolutions.com

Toll Free 1-800-803-1083

DLT w/ 25 Slot Wire Rack		Capacity							
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight	Price
SX60-5.5F-12-25	60" For DLT w/ Wire racks	*12	25	275	60	37-3/4	5-3/4	140	\$ 746.00
SX81-5.5F-16-25	81" For DLT w/ Wire racks	*16	25	375	81	37-3/4	5-3/4	155	\$ 879.00
SX90-5.5F-18-25	90" For DLT w/ Wire racks	*18	25	425	90	37-3/4	5-3/4	180	\$ 959.00
S-5.5F-25	Shelf as above with rack		25		2	35-3/8	3-5/8	5	\$ 33.00

*USABLE SHELVES - ONE LESS than shown - one extra flat shelf included in top opening to hold the wire rack

LTO w/ 29 Slot Wire Rack		Capacity				Flat Shelv			
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight	Price
SX60-5.5F-11-29	60" For LTO w/ Wire racks	*11	29	290	60	37-3/4	5-3/4	135	\$ 715.00
SX81-5.5F-15-29	81" For LTO w/ Wire racks	*15	29	406	81	37-3/4	5-3/4	150	\$ 849.00
SX90-5.5F-16-29	90" For LTO w/ Wire racks	*16	29	464	90	37-3/4	5-3/4	175	\$ 899.00
S-5.5F-29	Shelf as above with rack		29		2	35-3/8	3-5/8	5	\$ 33.00

*USABLE SHELVES - ONE LESS than shown - one extra flat shelf included in top opening to hold the wire rack

CD w/ 65 Slot Wire Rack

CD w/ 65 Slot Wire Rack		Capacity							
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight	Price
SX60-5.5F-11-65	**60" For CD w/ Wire racks	*11	65	650	60	37-3/4	5-3/4	120	\$ 715.00
SX81-5.5F-14-65	**81" For CD w/ Wire racks	*14	65	845	81	37-3/4	5-3/4	130	\$ 819.00
SX90-5.5F-16-65	**90" For CD w/ Wire racks	*16	65	975	90	37-3/4	5-3/4	140	\$ 895.00
S-5.5F-65	Shelf as above with rack		65		2	35-3/8	3-5/8	5	\$ 33.00

*USABLE SHELVES - ONE LESS than shown - one extra flat shelf included in top opening to hold the wire rack

**CD on Flat shelf overhangs front edge of case by about 1/8"

This configuration compatible with slidetrac but not locking doors. Use 7" case with doors

S-B	Stabilizing Feet (2 ea)		3/8	5	13-1/2	10	\$ 68.00
SHK	Staging Hardware Kit		-	-	-	5	\$ 36.00
*Stabilizing Feet are I	needed unless you are bolting to the wall						

*Additional anchoring is recommended and may be required by local codes

5.5" Data Media Shelving - Fixed Shelves

3480 - with no springs		Capacity			Fixed Shelves					
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight		Price
SD60-3480	60" For 3480 Shelving	11	35	385	60	37-3/4	5-3/4	100	\$	645.00
SD81-3480	81" For 3480 Shelving	15	35	525	81	37-3/4	5-3/4	135	\$	749.00
SD90-3480	90" For 3480 Shelving	17	35	595	90	37-3/4	5-3/4	160	\$	815.00

3480 - with springs		Capacity			Fixed Shelves					
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight		Price
SD60-3480-S	60" For 3480 Shelving w/springs	11	35	385	60	37-3/4	5-3/4	130	\$	725.00
SD81-3480-S	81" For 3480 Shelving w/springs	15	35	525	81	37-3/4	5-3/4	160	\$	866.00
SD90-3480-S	90" For 3480 Shelving w/springs	17	35	595	90	37-3/4	5-3/4	175	\$	945.00

DLT			Capacity			Fixed Shelves				
Model	Description	Shelves	Per Shelf	Per Unit	Height	Width	Depth	Weight		Price
SD60-DLT	60" For DLT Shelving	11	27	297	60	37-3/4	5-3/4	100	\$	645.00
SD81-DLT	81" For DLT Shelving	15	27	405	81	37-3/4	5-3/4	135	\$	749.00
SD90-DLT	90" For DLT Shelving	17	27	459	90	37-3/4	5-3/4	160	\$	815.00
S-B	Stabilizing Feet (2 ea)				3/8	5	13-1/2	10	\$	68.00

S-B Stabilizing Feet (2 ea) 3/8 SHK Staging Hardware Kit

*Stabilizing Feet are needed unless you are bolting to the wall

*Additional anchoring is recommended and may be required by local codes

NOTES:

**The capacities published here are considered reliable but not guaranteed. Media sizes do vary check dimensions to be sure

**Shipping is additional, \$ 365.00 minimum

**Slidetrac bases are available for Promedia racks

**STRIP AND SET IS AVAILABLE FOR \$ 25.00 - DRIVER WILL UNPACK AND INSTALL FEET

**Pallet/skid removal from customer location will be charged extra \$ 25.00 per pallet/skid.

**9 color choices available in standard textured finish.

5

\$

36.00